B A5 —

I L FRE (1) 2) (3) SitHE
INOBRAEM - BT ERB L | WAL ES ¢ 150mm(T-14) 19 - - 19 &
PhEE=AMNZ (¢ 150) 19 - - 19 {&
AR RIS M= FERR (& 150mm) 19 - - 19 5]
FIHRET: I PHEEZHY) 19 - - 19 =13
Rt EMR R UZERTT (¢ 150) 20 - - 20 &E AT
TAERER#— 20.57 - - 20.5 m
& i T (¢ 150) 20.57 - - 205 m
EANREET 19 - - 19 &30
FIEHEL 20 - - 20 &E AT
CoBl ;B KMt % T (¢ 500) 19 - - 19 &7l
EKMETERET CoBl;EK Mt % T (¢ 500) - 1 - 1 E AT
& i T (¢ 150) - 0.85 - 0.8 m
REEIBT (FCoRT) REE $300 Ea—LE - 1 - 1 &30
FK#t - BT EME T Bt E MR R U E T T (¢ 200) - - 10 10 =13
TKERER#R—F - - 9.45 9.4 m
FIEHRT - - 10 10 &30
FE & i T (¢ 200) - - 9.45 9.4 m
ERtT 11.20 1.11 410 16.4 m
11.20 — 410 15.3 m
9.60 - 4.00 13.6 m
11.20 1.03 3.60 15.8 m
2.00 0.09 0.80 28 m
2240 1.11 8.20 31.7 m
ftHT 78.84 3.66 31.90 114.4 m
48.78 2.28 22.00 73.0 m
26.60 1.33 11.00 38.9 m
26.60 1.33 11.00 38.9 m
26.60 1.33 11.00 38.9 m
1.91 0.09 0.88 2.88 m
247 0.13 — 2.60 m
1 i =)
1 1 [
1.91 0.09 0.88 288 m
247 0.13 — 2.60 m
0.09 0.004 0.04 0.13 m
0.64 0.03 0.35 1.02 m

RE&T




452 = . et b=
MhOELAEH-MAEREL 20 & P
g@dE u s soo
A EhR ) (m) 5208|208 e [ioir | 2% [@Elme] 05 [
£ SHEENR | CDMT | SHLENR | U0 | auepy | PRRRIE | BRFRIE (m)“’ (m) THY| (#] | ER TEE v BRER AR w15y o
e | A% | oneE | A% gy | (M) [ (m) (m) | (m) [ (m) | ") BB =R "
wi [t | w2 [ 2| BR[| wi | w2 | B L1 i | H2 | L2
#1100 | 1 | 138 | 2 | 376 | 100 | 138 | 070 | 138 | 138 | 093 | 090 | 0.0 QSS(I)—'()F()SGO) ¢ 150 EES
#2100 | 1 | 138 | 2 | 376 | 100 | 138 | 070 | 138 | 138 | 097 | 090 | 0.0 QSS(I)—'()F()SGO) ¢ 150 EES
B4l 100 | 1| 128 | 2 | 356 | 100 | 128 [070 | 128 | 138 | 102 | 080 | 080 | 3(;—'0F()360) ¢ 150 EES
5| 100 | 1| 143 | 2 | 386 | 100 | 143 [070 | 143 | 138 | 098 |05 |09 | 3(;—'0F()360) ¢ 150 EES
#6100 | 1 | 138 | 2 | 376 | 100 | 138 | 070 | 138 | 138 | 092 | 090 | 0.0 QSS(I)—'()F()SGO) ¢ 150 EES
#7100 | 1 | 128 | 2 | 356 | 100 | 128 | 070 | 128 | 138 | 095 | 080 | 00 QSS(I)—'()F()SGO) ¢ 150 EES
#8100 | 1 | 138 | 2 | 376 | 100 | 138 | 070 | 138 | 138 | 099 | 090 | 0.0 QSS(I)—'()F()SGO) ¢ 150 EES
o[ 100 | 1| 148 | 2 | 396 | 100 | 148 [070 | 148 | 138 | 100 | 100 | 100 | 3(;—'0F()360) ¢ 150 EES
%10/ 100 | 1 | 168 | 2 | 436 | 100 | 168 | 070 | 168 | 138 | 092 | 120 | 1.20 QSS(I)—'()F()SGO) ¢ 150 EES
#11) 100 | 1 | 138 | 2 | 376 | 100 | 138 | 070 | 138 | 138 | 097 | 090 | 0.90 QSS(I)—'()F()SGO) ¢ 150 EES
#12| 100 | 1 | 143 | 2 | 386 | 100 | 143 | 070 | 143 | 138 | 095 | 095 | 095 QSS(I)—'()F()SGO) ¢ 150 EES
%13 100 | 1 | o088 | 2 | 276 | 100 | 088 | 070 | 088 | 082 | 080 | 075 | 0.75 HP ¢ 150 - R EDH
¢ 200(254)
#14) 100 | 1 | 173 | 2 | 446 | 100 | 173 | 070 | 173 | 082 | 080 | 130 | 1.30 ¢2(;-|0F()254) ¢ 150 EES




M/PhOEXHEH-RATERBL 20 A
SR (m) sty e[ Lo w [mslmess] 122
wi n1 w2 n2 ER W1 w2 B L1 H1 H2 L2
7515( 1.00 1 1.73 2 4.46 1.00 1.73 0.70 1.73 0.82 | 0.80 1.30 1.30 ) 25:5254) ¢ 150 Pheg=
7516( 1.00 1 1.18 2 3.36 1.00 1.18 0.70 1.18 122 [ 097 [ 0.75 | 0.75 ¢25:)T254) ¢ 150 Pheg=
7517| 1.00 1 1.83 2 4.66 1.00 1.83 0.70 1.83 122 | 0.90 1.40 1.40 ) 25:5254) ¢ 150 PhEg=
7518( 1.00 1 1.93 2 4.86 1.00 1.93 0.70 1.93 122 | 0.90 1.50 1.50 b 25:5254) ¢ 150 Pheg=
7519( 1.00 1 1.63 2 4.26 1.00 1.63 0.70 1.63 124 | 094 1.20 1.20 ) 25:5254) ¢ 150 Pheg=
7520( 1.00 1 1.43 2 3.86 1.00 1.43 0.70 1.43 1.10 1.03 1.00 1.00 ) 25:5254) ¢ 150 Pheg=
7521| 1.00 1 1.60 2 4.20 1.00 1.60 0.70 1.60 1.10 1.00 1.17 1.17 ) 25:5254) ¢ 150 Pheg=
I 1.00 1.47 0.70 1.47 124 | 094 1.03
ait| | 1 1 ] 1884 2057 | 20.57




M/ A BARM - AT RETL ¢150 |mrs FRRF A = T H Py wrEs| N2
T T B Buft i mg ¢ %5(;% * BER% Cott ® 500
BER% S 1 oo
14 IR A o .
Z:;:;:: i ” I SR PR 12 == I APV ¢ 150mm (T-14) 19 fll  PhaEZ AN ST (¢ 150)ITOR 19 {i#
H E FAKIE AR — 20.57 m
T ! 1 + T
3| & TR h = (094 +[138 H/2= 114 m
- % izl (B&A%) {( 14 - 005 ) x| 070 x 147 / 2
| S
% i v« = 056 nof 0.56 X 20 fpT = 11.20 nf
g % iRl ) ((11e -l 005 ) x 00 x| 147 /2
ﬁ ﬁ = 056 0.56 X 20 i = 1120 i
ﬁéf i{g R (1) (030 + 0.165 ) x 0.70 x 147 = 0.48 m
0.48 X 20 T = 9.60 nf
HE (RC) {114 - ( 003 + 010 + 030 +| 0.165 )}
| X 070 X 147 = 0.56 o
i 0.5 X 20 FpF = 1120 ol
' R (M30) 0.10 X 070 X 147 = 010 nof
X ' 0.10 X 20 #FT = 2.00 nf
HIER L1 1.47
FEAE ISy 11.20  + 11.20 = 22.40 nt
ComkiLsy 0.13 m 0.13 X 19 @fF = 247 nf
sk pm g we [ 147 | SRS (As) 78.84 m
HRALSY (As) 0.023 X 0.05 X 78.84 = 0.09 m
= _ SR RSAR A (BAs) 147 x| 100 = 147 nof
i 2 147 X 20 f&F7 - 0.38 X 19 f&p7 = 2218 o
& lo 2o 5
=I5 BIS 147 x| 1.00 -/ 042 *X x/4 = 133 nf
E 3 1.33 X 20 f&p7 = 26.60
& — 22.18 + 26.60 = 48.78  nf
AsiilLsy 22.18 X 0.05 = L.11 m
26.60 X 0.03 = 0.80 nf
111+ 080 = 191 nf
HHEEMEIH t=3cm 1.47 x| 100 - 042 *Xx x/4 = 133 nf
1.33 X 20 f&p7 = 26.60 m
HHEEMEIH t=5cm 1.47 x| 100 - 042 *Xx x/4 = 133 nf
1.33 X 20 f#AT = 26.60 nf
B 2 (¢ 150) 20.57 m ENIEET 19 &7
PR LSy 20.57 X 0.0313 = 0.64 t
064 / 100 = 064 m3




N e =
Q)F KM EREL 1 & T
SHEE R LI M (m) sy | SR A | FEIE
szl | s g [EMIER| 50 BRI e
g g | 4k B | 2 R | B RS Y| (] e s , S
BB gﬁ% :ﬁg gﬁ% %g “ijﬁgﬁ (r:)EI (r:)EI (m) (m) m | o [EEM)| ERHERE AEQOE =EH et
wi |t | w2 | n2 | B wi | w2 | we w2 H1 | H2 L2
3| 100 | 1 | 133 | 2 | 366 | 100 | 133 [ 070 | 133 | 138 | 100 | 085 $ 150 HP ¢ 300(360) | ConZ $500 | FEAZE%+y7
Ty 100 | 133 [ 070 | 133 | 138 | 100 | 085
é%+|/|/|/|/| 3.66 085




Q) FBEBAKH -WAAEHMETL (¢ 150 )|frEsm RIS T B ST %53
[*)T‘EIZI 8 n g ¢ 150 AE AR ¢ 300
BERR &SR 11 | 0.05
RIS 2 mAtEmE L2 [0.85 : # Bk
EIRETEE t3 | 0.05
T
[ag}
T
28 % EON (=3
=Nl= x|
E-S
— R
TZ % + T
B SERTHRITE h = (148 +[ 100 )/2= 124 m
Eiig
=|H
g ﬁé‘f s (k) (124 - 005 )x 070 x 133 = 111 of
®
L1l x 1 f@pF = 111 nof
5 (RC) {124 - (003 +/ 010 )}x/ 070 x 13 = 1.03
_ 1.03 X 1  @FF = 1.03  of
5 (M30) 0.0 x| 070 x 133 = 009 o
0.09 X 1 i = 009 uof
Y X
X FEA ALy 1.11 n
HHERE L1 1.33
CoRkisy 0.13 nf 013 X 1  f#pF = 013 nof
SR RRABRIE W2 1.33
LiES =l 3.66 m
SRR (HsAR) 1.33 X 1.00 = 1.33 ot
i 133 x 1 @FF - 038 X 1 @FF = 095  nf
=
g%’_ 133 X 1  #pr = 133 nf
vl
= 095 + 133 = 298 uf
#=
& ASHEALSY 095 x| 005 = 005 nt
133 (x| 003 = 0.04 nf
0.05 + 004 = 009 nf
e HPEEEIA t=3cm 133 x| 1.00 = 1.3 nf
133 X 1  @FF = 133 nf
IR = 30 < e = 1 ]
PO I t=5cm 1.33 1.00 1.33 uf
133 x 1 fEpF = 133 nof
HALSY 0.023 X 0.05 X 3.66 = 0004 o
FeE 2 (¢ 150) 0.85 m
B sy 0.85 X 0.0313 = 0.03 t
0.03 / 100 = 003 m3




3= . = =n
B)FmAK#H -MAEREBEL 10| &P
prs i et e a=
= ML\ BEN mane mams| S5 R BOE e | A
o |FHEERR | UM | SRERR | UM | apuepy |PRERTR | BRERIR L T = oy e

B | Duiz| A | oz | A% ﬁf)ﬁg @ | | ™™ T | ) %mﬁ) & | &% =188 "%

wi [t | w2 [ 2 | EBR | owr | w2 | w2 | w2 | Hi| oH2 | L2
M1 | 100 |100| 118 | 2 | 336 | 100 | 118 | 070 | 118 | 138 | 097 | 100 | 100 | 30*(';:()360) ¢ 200 - B ft E D
M2 100 |100| 098 | 2 | 296 | 100 | 098 | 070 | 098 | 138 |06 | 080 | 080 | 30*(';:()360) ¢ 200 - B ft E D
M3 | 100 |100| 093 | 2 | 286 | 100 | 093 | 070 | 093 | 138 | 090 | 075 | 075 | 30*(';:()360) ¢ 200 - B f & D
M4 | 100 |100| 113 | 2 | 326 | 100 | 113 | 070 | 113 | 138 | 090 | 095 | 095 | 30*(';:(’360) ¢ 200 - B ft & D
M5( 100 |100| 143 | 2 | 386 | 100 | 143 | 070 | 143 | o082 | 080 | 130 | 130 | 20*8':()25 | 200 - B f & D
m6| 100 [100| 113 | 2 | 326 | 100 | 113 | 070 | 113 | 103 | 095 | 1.00 | 1.00 ¢20%F()25 | 200 - B f & D
M7| 100 |100| 093 | 2 | 286 | 100 | 093 | 070 | 093 | 103 | 095 | 080 | 080 | 20*8':()25 p| ®200 - At E D
M8 | 100 |100| 103 | 2 | 306 | 100 | 103 | 070 | 103 | 090 | 092 | 090 | 080 | 20*8':()25 p| ®200 - B ft & D
mo| 100 [100]| 113 | 2 | 326 | 100 | 113 | 070 | 113 | 110 | 096 | 1.00 | 1.00 ¢zc::)':()254) 200 - B f E D
10| 1.00 100|108 | 2 | 316 | 100 | 108 | 070 | 108 | 167 | 097 | 095 | 0.95 ¢2(|)—(|JT254) ¢ 200 - B f & D
1 100 | 110 | 0.70 | 110 | 121 | 0.93 | 0.95
aitl | | | ] 3190 945 | 945




(3) KM - B8 IREL (¢ 200 )|fErsmr RIS = T B HA TR Mi1~10

W = X B g ¢ 200 PO HP ¢ 200
. ARnE HP 300
R AL (1 ¢
IR 12 : w12 [055] %
HIRFERIE 3 i | Tl s — 9.45 m
i T = I I
[ Z
=M= | 1 |
- ! 5
I EN
T T — * + T
¥ I TR AR h = ((131 +[093 )/2= 112 m
e ;
|4 !
o ﬁéﬁ I fiii (k) {(C 112 - 005 )X 070 X L10 }/ 2 = 04 mo
i !
: 041 x 10 T = 410 o
i fiii (A {(C 112 - 005 )X 070 X L10 }/ 2 = 04 mo
— 041 x 10 T = 410 o
R (1) (030 +[0.216 )x 070 X L10 = 040 m
T K 0.40 X 10 f#pT =  4.00  nf
L (RC) {(f 112 - ( 003 + 010 + 030 + 0216 )}
HER 11 1.10
X 0.70 X110 = 0.36
BRI W2 1.10 036 X 10  f#FF = 360 o
iy (M30) 0.10 X 070 X 110 = 0.08 nf
= 0.08 X 10 f&#fT = 080 o
i JeE gy 410  + 410 = 8.20 m
=8
=|2 SRR O 31.90 m
& IR (H) 110 x| L00 = 110 o
110 X 10  fEFF X 2 [ = 2200 nof
AsFERALSY 11.00 X 0.05 = 055 nd
11.00 X 0.03 = 033 i
055 + 033 = 0.88 i
SR t=3cm 1.10 X 1.00 = 1.10 of
1.10 X 10  f#&AT = 11.00  nf
SR t=5em 1.10 X 1.00 = 1.10 of
1.10 x 10  f#&AT = 11.00  nf
KISy 0.023 X 0.05 X 3190 = 0.04 i
M 2 (¢ 200) 9.45 m
FEE WLy 9.45 X 0.0375 = 0.35 t

0.35 / 1.00 = 0.35 m3




